['he instrument usced (o Che
l“

Kthe b . i
(A) Sound Fork ¢ '““r'"l: of a pers0n 1B
(C) Audio Fork (B) Lhs X @ .
| N\ [above
A. st R Ao ¢ 3 . n: (D) All of
5 Py SRS g g quzd O 7
(:\] ;ﬂlG"S Sl | {i - '"31. 5\“"'
(C) «l8lul 515 /UH/ ;
‘ ) ) Gualsd dHId
2. 0. 45% Normal saline j« 0 type o \_/{
[ ' - = - 0 . '
(A) Hypotonic Solution m'u"”;; [[ypertonic Solution
") Isotonic S ‘ iy
(C) Isotonic Solution (D) Very Low Hypotonic Solution
A 0.45% UHA AUS 2 3o MERY Aeygiy g 7
(A) Hypotonic solution Syl %flcgam (B) grau2i-ls Aleyat
(C) 2612l Ay D) A4l dl sraulei-l aleyai
3. The full form of T.B.A. is \'/(

(A) Trained Birth Attendant (B) Trained Birth Assistant

(C) Total Birth Attendant

Vs T.B.A. {gasix{g o ?
(A) 268 618 w232

(D) Temporary Birth Assistant

(B) 2658 o1 ifl22-2
—(C) 2led 618 24232 (D) 23yd] o vflRe-2
4. Which colour dustbin is used to discard rubber catheter, L.V, set ctc?
(A) Yellow (B) Green
(C) Red (D) Blue
4. 012 5823, 28 dl A2 Fat s [std 34U 5430 Qo sai-t »ud O ?
)( (A) Hlull (B) dld)
 AC) dld (D) ocy
. Which organism is responsible for Measles?
(A) Paramaxico Virus (B) Versella Zoster Virus
(C) Veriola Virus (D) HIV Virus
w4 213 (@) HSHL FAUGER 2ANARH 54 6 ?
_AA) YAAHEAHSL aldN (B) dRAdl A2 A
(C) ARl a2y (D) A28l Qa3
0. This Vaccine is given by subcutaneous route
(A) Measles (B) BCG
(C) Pentavalent (D) Rota Virus
/ 211 2311 Aesy2-luA 32 gl AU 21d &9 ?
\_/(4() et (2A413) (B) ofl.fl. .
(C) U-21det (D) A2l ALY

) T.0).
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in 9t Person

ouf 'S universal Donor?
7 Which of the following blood £F° (B
2 ) A
(A) AB (D) O e
(C)YB : Hq%lél ;l’l-'-i (?_{r.i-;:m) Ldcll 49 2
7 el WA oy veqsau st o\ i
5 A (B) A
\ (A)AB (DA ve
() o Antenat. .
S. Straight sear seen on abdomen A5 Al CRAtY Deriod (Preganancy) is called
i o e (B) Lines Alba
(A) Cloasma (D) N ‘
(C) Strine Gravidarum o~ ) None of above
S. ol0dara g2 et Gua-L (R AL T Gay 55153 IR
(A) sl ) Al s—
L AC) 3 Adl3u | )l cafder Ao U4 35 o 1)
Q Which dose of '] (I Vaccine given to the mothe, COnceive second Pregnancy within three years of
first Pregnancy?
(A) Td Booster (B) Td - I
(C) Td - (D) All of above
. » HIAL AL QAL AHURUOUHT % §3 AAHIARAL M1 53 Q) O 51 8.l 5401 S1os AUy £9 ?
. (A) Q4L o123 (B) 2.4\
(C) 8.4l.-2 (D) GUlsd duy
10. Which part of fetus is felt in vertex presentation
((2)) :;lcr:lm (B) Occiput
antum :
(D) Acromion Process
A a2 Qu cud §laal sl eyl sla iy @ ?
A “\
(A) A5 AB) 2UsAYy2
(C) Hreny (D) st lu AAN
i1. After delivery when Lochia serosa is seer cted?
(A) during 3 to 4 days (B) during 4 to 10 days
(C) from 15 eek to 6'™ week (D) None of above
1. L4
Alzlau 00w Aelad)y, SCEL AHY UL oAl o) ¢
(A)341 42 ‘
4y YH) «B) 4 0l 10 Ran .
(C) Vagaifly of) ¢ 5
5 - » Vsl yH) (D) 21 euide 20 WA A5 yo 4
o “an be measureq by using Shakir’s Tape?
A)MUNC
©) MuRe (B) MUFC
- Qi 2 (D) MUAC
MMI Shakiy'g Tape 4l Guuay Q\L HuAL Y2 ALY ¢9 ?
JHC
©) MURC (B) MUFC

(D) MUAC

1Conte
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3. Which one is best test to detect Iron deficieney?

(A) Serum Scerotin (B) Serum I*'ul'l*ilfn-
(C) Serum lronic (D) Serum Creatinin
3 A SERIARA 1252 520 w3+ 6y 222 sl 9 7
(A) A2 A2 A () 024 521211
(C) ARy 2ud-ls () A2 PEREIRTDY
14. What is floating tip portion of lce Berg theory?
(A) Clinical Cases (B) Dead Cases
(C) Undiagnosed Cases (D) Pending Cases
4 20U ol ADNT A& Ay Wiziq A4 eafd o ?
(A) sdll-lsa 30l (B) 38 5l
_ Q) At Sl 3l (D) U=l 3l
15 How many total tablets in oral Contraceptive pill’s packet?
(A) 28 tablets (B) 25 tablets
(C) 30 tablets (D) 31 tablets
15. 2R S A a Ve 25 Wdon 2led 326l apoflad 2ud 8 ?
\/(a) 28 a1ufl | (B) 25 20uil
(C) 30 21l . (D) 31 20vl
16. How many total does of Vit-A given till 5 years of age ?
(A) 8 dose . (B) 7 dose
(C) 9 dose (D) S dose
16. vl v YHlu ouasd 54 3zan Qeaflq-a1 i o AU AL ?
(A) 8 31 (B) 7 $i
€79 1 (D) 5 1
7. The chest comes forward in rickets is called
(A) Keiz Chest (B) Blow Chest
(C) Pegion Chest (D) All of above
L 1s22ui Ol oo Gua oy 33 Usd 9 ?
(A) 56% A2z (B) 6&il A2
(C) leurt 42 /(D) BURsn awin
18. Fear of water js called |
(A) Hydrophobix (B) Aerophobia

(C) Watershed
A sl ay ofls ¢y qq A0 9] 58 ¢ 7

A S8 516l

(C) diea3ys

MIDFRW - 2023 . |
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19. W hich of the foll

Ilcc‘
(A) Breast feeding pre ac

cs QUl 2
(C) Communicable ol «n}ﬂﬂﬂ e HHQQ[

A4 89 7
A 1’5 ’
19, Az W4 oinl §-3ll a0 (B) 'l"l'lC-l Hléllﬂ
i (A) faz S8 sl (D) % &g1 %
() sopfliea QR0
llll’i |
20, What is mean by dys€ ::;) Painfu Defecation
(A) hard Stool )) (Hcen Stoo]
(C) Stool with hlood
0, da-uedy?

(B) USg I REI PP

ard stool B18 24
(A) Hard stool 818 25 (D) 31 Ry

‘(‘) 22 dly ods ¢ sign seen in whicl, diseqge
21. Mecewan sign and Crackp (B) Meningltns
(A) Rickets (D) Hydrocephalys
21. Lfﬁ:-::ulsq s 35l A6 w54 2104 ey g g
v (A) A3 - _AB) qﬂmﬁﬂa
(C) A2 | (D) &158135dy
22 ‘Flag Sign’ is a characteristic of which disease?
(A) Kwashiorekar (B) Poliomyelitis
(C) Rickets (D) TB
22 SAI A sUL AN @R € ?
- (A) sl 52 _AB) Wellulyens A
(C) N2 (D) <Loil,
23. Which injection given to newborn to prevent bleeding?
(A) Calcium Gluconate (B) Vitamin K
(C) Methargin (D) HCL
23. i Ul e staan W2 sy S 5u B 2y B 2
(A) sedlum 252 AB) dlaiafl-3
(C) Wazzg (D) 3. A4,
24, Thallesemia is type of disorder |
(A) Hemolytie disorder (B) &;!-'.ﬂiac disorder
(‘(.') 'Ruspir:lm ry disorder (D) “ ocrinal disorder
4. Al B a1 usRHL Navilds 6 7 =

() 220328 Hyaiiia

\ AN AR s Qs

MDFHW - 2023 .3 ) '
\ |Contd.




lJ —'I-— T -“ L T — ——— - —— = o _.l"j L -J
“l;_ & 1, s ' _‘w—

The second name of Anterior r““tﬂnel i«

25.
(A) Lemda "‘“—;'I;) Bregma
(C) Forchead ‘ D) Al of the above
T ACICE si-ztdrd ol H 9 9 7
(A) AH3L (B) oM
(C) §12¢3 (D) Gudst A
b6 A sl Asd U A dl 45 2 o o o i A a9 D ?
ﬁ (A) gAUAZIH ,V(Bf 1
(C) et (D) ANAARAH E512 P
T s PURELREEEE L e " |
. (A) Ml Mo (B) 74 A '
(C) MiRus L eldl Py 24
28, ‘P2 di Wl el nell’ 1adsu Q) ¢y 39
(A) dtadn Fruel (B) g5 8152
AC) Guzisz Al (D) HAcuS vl
29. D2 Rseunidl s 4512 sl Liqd o Al ?
(A) Gu2is2 A2l %B) 25l Alud)
(C) %5 e (D) swaa el

30). 235’ Gumel 5161 dldizil qulg &9 ?

\/(A) [ wes ,\_)@(&ua‘iaz Al

(C) AUzis2 A2l (D) Bogatern 4eR
31, a8 eisi: ouea’
(A) o1, + GA (B) ol + God
\/(6 ol + Glea (D) g, + GloAt
32, A8 ASL: i + 52
(A) HLs= (B) M52
/(C) euzs (D) M2
33, wuud [aseunidl 56 aasell vidl &
(A) Udls (B) 512032\
(C) Al ) gy
34 Heg Ml @R Ae Wy W2 Uy [Asey yaig 43l
(A) aveay] __B) 2A1[AHY

(C) HHeAUIR (D) 2=[aerR

MDFHW - 2023 -8B | 7



o Ry
S A q 3wl (B) %31y A5 o mynd)
oyl D ES ) g |
(O vt ulia 1-"“"'1 -
36. e sl A O ? \ B) Gy, HUHIY
(A) AN HHIN D) ootz eiing) AU
(C) eyl 0 - Lol
3T e Rt (B) 3y <
WA 3'??“{'““ (D) enfy3
NC) Gt 'y
38, \S'lm (2 sl 2 deudl el v
(A) 34 Qs \y«riuua b
L\' sx[W asy (D) Y25 quz
2, ausidl :acy usdl 1406 vdtdl.
() (32 (B) i
(C) A1y (D) @E‘:{QR
W ueslR nAs 56 e gt usilid w6 ? ,;
(A) A¥R Ay 25184 RER . :
(€) $412 w5191+ LAAD) oifEas sy :
i1, Give feminine name of "Poet".
(A) Poety
(C) Poetess
2. Which of the following is not atype of pronoyp?
(A) Possessive Pronoun .
\/«' ) Relative p ronoun Eﬁ) Relaxi ﬁ“ ‘ "-_lo_l,m
43, Replace the underlined word to make gram aticy]) )r dm.l ) .?. ;; ..F :N ?"0“0““ . .
homew Ork before the schoo) reopened, " Corrg P "f‘ She ﬁm‘“}' M her hohday
(A) Finishes e
(Cy F inishinge () Will “ &
. Fillin the blank wiq, Correey Preposition. _\J-“ﬁhm hed
;'l::;::w YOu sueeee) e Betting whag Yo el -' ,_,'r | . |
(C) winy (Il)_ of ) e ‘;
e \ . . g s S
45, Fill in th, bhank wi, the corpee form of the :I{) _ rz | i
R.m"m" e s ety o n iy _E“(ﬂ'ho Present perfect tense s "
“TA) draw - Periect e
(C) hay drawg - .:'Ffﬂ . »

|Contd.




106 Change into passive vojee:
Sonu has sung the songs well.

AYThe songs are sune we , © . . . Q
(A) Tl 2 ung well by Sonu. The well songs are sung by Sonu.

. | (1B) r |
AC) The songs had been SUnNg well by S, ") The sONgEs have been sung well by Sonu.
- v 20N,
17. Correct the following sentence Sha _ Car
o nd : - 'Clearng griving 44
\.,-‘((‘) She learn for driving a Cyy N She lears 10 driving a Car

18. ldentify the subordinate clause iy 1. . -
the Biven sentenct:

All that glitters 18 not gold,

(A) Adverb clause of manner (B) Adverb clause of place
) Adjective clause
\} J

19. Fill in the blank: He prefers

(A) than

(D) Noun clausc

Bio Cllemis[ry Pharmacy.

(B) to

\Lf ) by L/(,]})) with

30. Give one word for the following Plyyoq..

"The one who believes in existence f God."

(A) Theist \/(Bj Atheism

(C) Agnosticist (D) Saint
51, Join the following sentence and make gp, -
- I have seen the boy.
- The teacher punished him. “
(A) I have seen the boy that the teacher punished him.
(B) I have seen the boy whom the teacher punisheg.

(C) I have seen the boy whose the teacher punisheq.

\_/(1{) The boy has been punished by teacher that I haye scen.

2. Choose the correct option to complete the sentence in indirect speech:
Alice said, Dennis is sleeping now.
Alice said that Dennis ~__then.
(A) is being slept (B) is sleeping
(C) was being slept a_AD) was sleeping
3. Choose the correct degree of comparison in the following sentence:
Raghu is taller than Robert but Rupinder is still.
\,(A)/t:lll (B) more taller
(C) the tallest (D) taller
54. Transform the following sentence in to Assertive sentence

"Who does not know the Ow|?"
(A) Everyone knows the Owl. (B) Evervone knew the Owl

(C) Everyone does not know the Ow]| \/(()) Everyone is knowing the Owl

——e
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PN P ST T
W":' +;--—1- gy o v < .

entence
fpllf""'i"g-cnr.“
gy the cubjeet 1" tllf' w apl
5 o the SWH (B) swallows
"Spring s advancit o ! (D) None of the above
\;2 :I::::,l ydvancing , (*'h:-.l“'?“‘r!c Ul Areassociated with which game ?
30. Federation ¢UP World d \8) Vﬂlly Ball
| (A) Tennis (D) Cricket
() Basket Ball e ol W A5G 63 9
6. ssaut sy, Ad% 5 et (B) dicleiey
(A) 2R D) (332
(C) buR32 ol - celebrated op

§7 Fach year World Red C

(A) May 8
(C) May 28
aeé 35 5113 World Red Cros

§7.
(A) 8 ¥
(C) 28 H
58. Famous sculptures depicting art of love built some time in 9 30-105
(A) Jama Masjid (B) Sun Temple
(C) Mahabalipuram Temple (D) Khajura_ «

58, Duedl son eafadt uBig Riedl 950-1050 AD g3 585 %oy

(C) Herndlyy H[eR
9. Gravity setting chambers are used in industri
(A) So,

(C) Suspended particulate articles

Gaowd AQA AR Aaogz 93 AICECIRIEC LY
(A) So,

% ERRY WE54d2 V22

Hon, Guwyh.

oY,

6(). .
A High Court, (he Judie
(A) Nllki‘l "][l

(C) Assam

60).
N, Al o S U S48 ] 54

(A) g g
(C) 20413




61 Friction can be reduced by cllanging from

(A) Sliding to rolling B) Rolling 1o sliding
(C) Potential energy to Kinetic encrgy (D) pynamic to static
I 1 oecll ave a21fl agiy ¢ |
(A) G2l e (321 (B) sends (3l 21[&21
LAC) 2R 6ol A God 1) Rl (2 |
62, Fire temple is the place of worship of Which of the following religion? & '.
. (A) Taoism (B) Judaism
I (C) Parsi Religion - Zoroastrianisy, (D) Ghintoism
62. 2B e AL suL v yon 0 ¢ 9
(A) diAlalE (B) ugfl 4l
C) w3l 4H - ArilRulRaw @y RS
63. Film and TV institute of India is locateq ¢
(A) Pune (B) Rajkot
(C) Kolkatta (D) Perambur
X63  Baad ddl S[Reaye ¢iis SRy sy, 20 2l £ ?
(A) el (B) A% 12
NE) sas D) Qe
64. During World War I1, when did Germany attack France?
(A) 1940 (B) 1942
(C) 1943 3 (D) 1944

64. ol [A2 Yo e2van 912 1m0 w2 5o qufj $HAl 53¢ ¢l ?

_AA) 1940 1942
(C) 1943 \)((BT

1944 |
65. India’s first Technicolor Film in the early 1950 was r
(A) Jhansi Ki Rani - Sohrak Modi (B) J ,;;-,.;-;..;' e
(C) Mirza Ghalib - Sohrab Modj e
65.

(A) Gold
(C) Mica
66. Gy CETENE)| QY13 o
way” .



W - r— I g e g e o
f I“
*

|¢d t.
67. How many Lok Sabha seats Al

(A) 32
(C) 26 m&‘l é )
. N re Y, o | N
67. AT Azl PRRLLR AT e &
A) 32 | | W\ x
(C) 26 AN
68. Find the value of X

4 7
(A) 10 (B) 9y

(C)8 AD) 7

8. 4 7
7A9 IA
(A) 10
(C)8

69. (D)7

Find the value of X

v

e e e L

6

4 6 Ri‘i@l;aﬁ&ﬂ?

‘i

ORE
OO

(A) 22

(C) 16
69,

S
O
@ N1 32y oy,

O @
P O

(C) 16
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'hich month is desi ” .y o
70. Which m esignated g N“linnm Noeeriq Mon th” in India?
(A) August utritio b
: : SeptembEr
(C) October (B) l
sl MRAR 20y @) (D) November
| 541 HIE ; ;
70. f‘il‘!ﬂ’: qUMEL 3y A 0 5ot 2 89 ?
(A) A2 \/(B{"ﬁ SRR
(C) 152102 ) 4342
71. Which village in Assam State i Selecteq TI(1 hest Tourism village of India™ in 2023,
) Y a8 “The '
(A) Monabaric (B) giswanath Ghat
(C) Kaziranga (D) Maj ali
T BURAHAL 5L U CUReAL 2 Wayy Sy g e, S 219 8 ?
(A) MRl \/(B’) Qi Q2
(C) sl () 1l
(C) Chennai (D) Kolkata

7. “-eRAuna AUl SE 20237 Gy 0 sad) e

ok gy Bed
(€) A1 (D) slastil
13. From the following pairs, showing Artigle 5 1 contents, Which patr s wot R
(A) 12 Article — Definition .;,
(B) 14 Article — Equality before law
(C) 21A Article — Right of education - .

(D) 24 Article — Freedom to manage religious affairs

73, 2udlsa w1 Aoidld [Qotdl safadl AN UL 58 AL oy ol ?
(A) 12 — cqrvdl
(B) 14 — SLUEL AHE AHLAL
—(C) 21A — [l 55
_P) 24~ s onotdidl al@q2 salg did=t

74. Evaluate the statements :-
1. Under Article S1A of Indian Constitution, the provisions of Fund

2. Under Article 39A, equal justice and free legal aid is mentioned

(C) Both 1 and 2 are correct (D) Both 1 and 2 a

74. AL AL 5L ASIAL |
1. R o{qRal sau 51-A de0 yayd 5240 Aol S3a 8,

2. 54¥ 39-A €80 UM U 2 Had 51 wiall AU R4 O

(A) " 1 42U 8, (B) HizA 2 4194 ¢

L )1l 2 2 o1~ YlaYy 19, (D) _.-'-':' '

MDFHW - 2023 - B |



of |||(":I this D1 \"i?iinn i«
. t ]' : [ 3
75 here shall be 2 preside? fade under Which Article ol Ing;
/ . ‘- . li'll]
Constitution. (B) 54
(A) S0 (D) 5
(C) 52 . ol rﬁOlQl?S "iE{lEnl.{l 5'!5 :
2dd.” ~ HUL 523910 2del) 6 2
- - 'y | Ma Q[l?“{m ¥
?,\H . B HIRd (B) 54
(C) 32 Neaning Againg
ation ol a ladd lc & st wall is 6o |
70 Ihe angle of elevitt h of ladder B and foot of a ladder is 4.6 mete
O way from wall. The length r's
: | (B) 4.6 Meter
(A) 2.3 melcl
(D) 9.2 meter

(C) 7.8 mefter

o, R gl DA G 45 6079 B o AL 4.6 W22 g2 B, 2y of
\.1- 0. Quﬂ_n ab{lé_ !,ac.ﬂ é.él o . g . 2l ?.{%ﬁa

B
(A) 2.3 4l (B) 4.630
() 7.8 ¥l (0)9.249
. . km/hr, CI'os .
y i A train running at the spccd of 60 Ses a pole in 9 af
- scconds. What is the length of g
(A) 120 meters (B) 180 meters
(C) 132 meters (D) 150 meters
77. 60 BHl/seusl 38 €lsell 21 9 ASHL 25 WA wR 53 8. dl 24 oS Yol ) 2
(A) 120 {123 (B) 180 122
\/(f:) 132 e (D) 150 323

A sum of money at simple rate of interest, amounts to Rs.815 in 3 vears and Rs.854 in 4 years
The principal amount is

(A) Rs.650 (B) Rs.690
(C) Rs.698 (D) Rs.700
1B e eyl ga el 25w 3 auui 3L §_‘_§i’i"'1 4y 31, 854 wu © dl yaa su sedl el ?
(A) 3L 650 (B) Ql 690
(C) 3. 698~ (D) 3L 700
79. e
Avendor brought, at 6 for a rupee. How many fora rupee must he sell to gain 20%?
(A)3 (B) 4
) S (D) ¢
79. '
25 A 3139 6 219 Wl 6 A A 20% 5\ hnaq) Gy 4 2t 311w ?sé&ﬂ Agldadid !
\JA/ 3 'ﬁ, LA |
- _AByg Ry -
!? | fﬂliﬁ .}rit
MDFHW - 2023 _ 3 %
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~ A fruit scller had s X ' i
S0 \ fruit st Wl some apples., 1e Sold 4¢9y, apples and still has 420 apples. Originally he had

~__apples,
(A) 588 (1) 600
() 642 (1) 700
Q). 215 50 A2 0% AL %A dqazyy “UE, o) W 420 4827 af 49, Al d-ll W3 54 241 U52% 4 9| ?
(A) S88 (1) 600
(C) 042 (D) 700
St 66 cubic centimeters of Silveris dpyyy, N ingg g wire of 1 mm diameter. The length of the wire in
meters will be
(A) 84 (B) 90
(C) 168 (D) 336
a1 66 u A-dlfleR ARl 1 A cuai gy pgaai 202 9 dl d -l dous s2a 22 wa ?
(A) 84 _ (B) 90
(C) 168 \f\ (D) 336
S2. Which of the number, from following, is not prime number.
(A) 31 (B) 61
(O) 71 (D) 91
2. A4l 565 wfAcuu dva Al ? 3 A -

(A) 31 ) 61 s < \ 0O o
(C) 71 \)(6)91 9 . b

83. (112 x5%) = . Fill in the blank \ \

e ————————————

(A) 67000 (B) 70000

\i’w) 72000 (D) 76000

83. (112 x 54) 4 Heu 524 sl ?

(A) 67000 (B) 70000
AC) 72000 (D) 76000
84. Six bells commence tolling together at the invervals 0of 2,4, 6, 8, 10 and 12 seconds respectively.
In 30 minutes, how many times do they toll together?
(A) 4 (B) 10
(C) 16 (D) 20

8. o2 zls 0l aiar 43 53 0 2 2ysil 2, 4, 6,8, 10 241 12 Asms 2 12 3 8. 30 Azl dil
s2dll auid 2004 Al ?

MDFHW - 2023 - B | (%
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The number of each denaminate

eh s divie
RS l hl‘ oreatost ""'“hl'r "r “ l'iﬂ“'ﬁ‘ g hlc . 'h'hlt‘ l'} lsq 25. ‘" “nd 75 i"
(A} 9000 9400
(C) D600 () 9800
. 219 15,20, 2% « £ .
88, At ¢ gedl el w4 g A e 2 A0y 75 of) [aeaq g 1) 7
(13) ¢
(A) 2000 > 7400
(C) 9600 1-4:5 and l'(I)) 9800
NG, I hree numbers are in the ratio of 234 I LCM is 2400. Their HCF is
(A) 40 () 80
(©) 120 ) (D) 209
) . e A <2 Auiil L &R <
86. A0 AL 3 s 42 S Aol ui ¥ st AL LCM 240 9 Al dAl-l HOF 2260 w9t ?
(C) 120 x (D) 200
87. A man has Rs.480 in the tlcnominntiﬂ:: of lf, Sand 10 Rs, notes.
notes is equal. What is the total number ol notes | has
(A) 90 (B) 75
(C) 60 (D) 30
87. A5 a5 W 31 4809 B 3L 1,5 21 10 U 8 A1) vy 2L . 20 AU AL W 24 224)
Al2 gl ?
X (A) 90 (B) 75
(€) 60 (D) 30
88. Find the number 3,5, 8, 13, 22,
(A) 39 (B) 42
(C) 44 (D) 46
88. o alMl. 3,5,8, 13,22, ]
\}\’f 39 (B) 42
(C) 44 (D) 46
89. 9 8

I| 3 Find the number for X

2 X 7
‘:\) 5 (B) 0
(C) 7 (D) None of the above
89 Y 7 8
1 Vi\\ 3 X o yeu 2l
2 X 7 |
(A) 5 ot
(€)7 N Al eufda Ao WAL s wo )
—— e ] /‘\‘_——_—__
MDEHW 2023 - B | 16 3 |Contd.
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90, 3 pumps working for 8 hyg, 4 day
“."rh 1o l"“"'}* H | l“"k i“ l ll“‘"l ’
(A) 12

‘ . | (D) 6 ..
0(). Iy [Baul 8 sAls 51y 5314 ?.;15 2i4) ) [%C{Q{Hi widl £ ) oA AL 214 1 [Baxui vidl s2aidl ely 244

R DR LT ETERHTE A5 9

: ays. How many ;aday -
AN empgy 4 gank i 2 days. H 1any hours a day 4 pumps

(AM12
\./‘é) q (B) 10
ine at the same spe (D)6
01. Running at the same speed, ¢ identicg) machines can produce 270 per minute. At this rate how

many bottles could, 10 such yyp e :
' achimnes in 4 mnm; roducce:
' minutes P

‘ (B) 1800
(C) 2700 (D) 10800

01.  AHH [?1% €2 AL 6 ML Ul By 44 270 blied Gauet 53 213 9. 2uan 10 12l 4 s [A2ni
24 oliedr Geulent 529 ?

A 1N (B) 1800
\AE) 2700 (D) 10800
92. A boat can travel at the speed of 13 kmyp, iy still water. If the speed of stream is 4 km/hr, then
the time taken to travel dam stream will be /hrs.
(}\) 5 ['I I'S. (B) 4 HI'S-

92. s oeile RuR wellHi 13 Blscus-l asudl ony 6, o ware-ll w4 Blfsensl lu dl 2l-u uae-l
A 68 [5HL s1udl d s2dl unu Qg ? - -

A EESE ‘ \L><(B}4 54l

(C) 3 5415 (D) 2 5415
93. In order to obtain income of Rs.6500 per year from 10% stock at Rs.96 market price, the
investment needed is
(A) Rs.31,000 (B) Rs.62,400
(C) Rs.65,000 (D) Rs.96,000

03. 31 6500 Nl caulils -l vitas AN 10% 2215 5 %1l oion (331d 31 96 8 A S2e 31 RAsal AON ?

(A) 3L 31,000 \_/(‘B{QL 62,400

(C) 3L 65,000 (D) 3L. 96,000
04. ODD man out :- Or)
1,3,5,11,14,17, 21 é 5""‘0-0 \ f"
(A) 21 (B) 17
(C) 14 (D) 11 qé
04, AL WA 59O Avar widy 4] ?

1,3,5, 1,417, 2]
f))u (D) 11
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1, 261

‘ e
93, Fillin the blank 16, 33, 65.1- )
; (B) 321
A) 523
- (D) 721
(C) 613
N > ] § R ——

03, vl w3l 16, 33,05, 131.7

(AY 833 (552 ;

(D) 721 §

(C)o613 - }
00, A person crosses 000 mirs. distance 1= ANNUEES, Whag i his speed in KM per Hour? E

(A) 3.6 KM (3)7.2 Km

(C) 8.4 KM (D) 10.00 Km .
06, 315 culEr 600 W22 vida wiz WAL AR 520, di g geypai 3 s2¢f »id2 sl 2591 ? |

(A) 3.6 (3l (B) 7.2 (23] ;;

N A 84 (3301 (D) 10.00 (230}

97, A and B invest in a business with profit ratio of 3:2, IT5% profit to be given for charity purpose

and A gets Rs.855 then B will get

(A) 1425 (B) 1500

(C) 570 (D) 1000

97, A 2 B i A5 590 3 2 2 AL UHIRH A5 WAl 158l 53 8. A 5% 151 Wiz MIZ A

/3L 855 i €lu dl B A eai 3L ML L ?
N s (B) 1500
) 5T (D) 1000
98.

The sum of age of 5 children born at the interval of 3 years each, is 50 years then the age of
youngest child is

(A) 4 years (B) 8 ye‘a’is

(C) 10 years (D) lz}:‘yé‘“lars
98, UL 6P 5L GHRAL AR 50 QU 69 A d2ALHL gy :u; QAL AW AU DAY 22K 6, iy AR ANA

Al AL cunsAl GuR sedl vl ?

(A) 4 i (B) 8 ayf

_ACy wad (D) 12 ay
2 2

99, Find the value of (_3-;9;1):(11(:;” ; {)

i (A)2 (B) 4
/ (C)06

2

2.39) —(1.61 .
() RN Yed QML

2. 2 30-1.61

(A) 2
(C) 6
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0. Wha is the decimal of an hour jg See
Taaccond?

(A) 0.0028 _
(B) (0.0256
(C) 0.00027
“\ N . IS, (D) 0."027
00, 25 sAsHLE, ASSHL s2al apy ¢ ¢
A) 0.0023 .
. (B) 0.0256
).00027 -
b (D) 0.0027
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